
50 mm sheetpile Azobé, profiled, from certified forests

MRPI® registration

www.mrpi.nl

date of first issue

22-1-2025

date of this issue

22-1-2025

expiry date

22-1-2030

1.1.00760.2025

program operator

Stichting MRPI®

publisher

Stichting MRPI®

Environmental

Product

Declaration

According to EN15804+A2 (+indicators A1)

This declaration is for:

Provided by:

Centrum Hout 



VISUAL PRODUCT

1334 BK

Almere

Netherlands

DEMONSTRATION OF VERIFICATION

CEN standard EN15804 serves as the core PCR [1]

Independent verification of the declaration an data

according to EN15804+A2 (+indicators A1)

Stichting MRPI®

1 Productiveness (m2)

Centrum Hout 

Westeinde 8

COMPANY INFORMATION PRODUCT

DECLARED UNIT / FUNCTIONAL UNIT

internal: external: X

Third party verifier: Fred van der Burgh Msc, Agrodome B.V.

[1] PCR = Product Category Rules

0900-5329946

Eric de Munck

https://www.centrumhout.nl/

MRPI® REGISTRATION

1.1.00760.2025

DATE OF THIS ISSUE

22-1-2025

EXPIRY DATE

22-1-2030

MORE INFORMATION

SCOPE OF DECLARATION

This MRPI®-EPD certificate is verified by Fred van der Burgh Msc, Agrodome 

B.V.. The LCA study has been done by A. M. Kloppenburg Msc. , SHR B.V.. 

The certificate is based on an LCA-dossier according to EN15804+A2 

(+indicators A1). It is verified according to the 'MRPI®-EPD verification 

protocol November 2020.v4.0'. EPDs of construction products may not be 

comparable if they do not comply with EN15804+A2. Declaration of SVHC 

that are listed on the 'Candidate list of Substances of Very High Concern for 

authorisation' when content exceeds the limits for registration with ECHA.

PROGRAM OPERATOR

Kingsfordweg 151

1043 GR

Amsterdam

Ing. L. L. Oosterveen MSc. MBA

Managing Director MRPI

https://www.houtindegww.nl

Sheet pile with tongue and groove, including purlin beam and fasteners, 

durability class 1-2 (NEN-EN 350), strengthclass D70 (NEN-EN 1912), 

calculations are possible with D-sheet piling; 3cm thick/3 m1 long upto max 10 

cm thick and 10 m1 long.

DESCRIPTION OF PRODUCT

50 mm sheetpile Azobé, profiled, from certified forests



A1 A2 A3 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4

X X X X X X X X X ND ND X X X X

X

ND

straps steel 0,88

straps plastic

kg

kg 0,14

Unit

Amount 

1200

20

10

10

= Modules Assessed

= Not Declared

X

O
p
e
ra

ti
o

n
a
l 
w

a
te

r 
u
s
e

D
e
-c

o
n
s
tr

u
c
ti
o

n
 d

e
m

o
lit

io
n

T
ra

n
s
p
o
rt

W
a
s
te

 p
ro

c
e
s
s
in

g

D
is

p
o
s
a
l

technical specification

Density

moisture content 

Unit

kg/m3

%

m

cm

D

PRODUCT STAGE

A4

X

CONSTRUCTION 

PROCESS STAGE USER STAGE END OF LIFE STAGE

BENEFITS AND 

LOADS BEYOND 

THE SYSTEM 

BOUNDARIES
R

e
u
s
e
 -

 R
e
c
o
v
e
ry

 -
 R

e
c
y
c
lin

g
 

p
o
te

n
ti
a

l

max length 

max thickness

packaging material Amount

SCOPE AND TYPE

R
a
w

 m
a

te
ri
a

l 
s
u
p
p
ly

T
ra

n
s
p
o
rt

M
a

n
u
fa

c
tu

ri
n

g

T
ra

n
s
p
o
rt

 g
a
te

 t
o
 s

it
e

A
s
s
e
m

b
ly

U
s
e

M
a

in
te

n
a
n
c
e

R
e
p
a
ir

The dataset is an average EPD, representative for African sheet pile, harvested and initial production in Africa, transported to the Netherlands, installed in the 

Netherlands, the LCA is calculated with EcoInvent 3.6 in combination of the NMD process database calculations performed with Simapro version 9.5. 

Component (> 1%)

azobe moisture content around 20%

galvanized steel 

R
e
p
la

c
e
m

e
n
t

R
e
fu

rb
is

h
m

e
n
t

O
p
e
ra

ti
o

n
a
l 
e
n
e
rg

y
 u

s
e

0,36

60,36

kg per m2 sheetpile

DETAILED PRODUCT DESCRIPTION (PART 1)

The azobe logs are harvested with a chainsaw in certified forests. The logs are transported to the sawmill, sawn and profiled to sheet pile. Thereafter the 

sheet pile is stacked for transport. The sheet piles are transported by boat and truck to the port and with large breakbulk ships transported to the Netherlands. 

From the lumberyard the sheet pile is transported to the location of use, installed using a crane and connected with galvanized screws and bolts and includes 

a purlin beam. The reference service life is 37 years. For the end-of-life a specific scenario is used where, based on research, 5% landfill (left in the soil) is 

assumed, 15% incineration in AVI, 40% sold for reuse as other products and 40% reuse where the lower part of the sheetpile is used as upperpart in the new 

application. 



REPRESENTATIVENESS

the data is representative for the situation in Africa, in cases where economic allocation is applied, this is sensitive to fluctuations. The data is only applicable 

for wood from sustainable forest. 



A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

=

=

=

=

=

=

=

=

=

=

=

=

=

HTP Human Toxicity Potential

FAETP Fresh water aquatic ecotoxicity potential

ADPF

Marine aquatic ecotoxicity potential

MAETP kg DCB eq. ND ND ND 7,35E+02 3,57E+01 2,99E+01

ND ND 4,29E-01 1,20E-03 4,17E-03 0,00E+00 0,00E+00

6,43E-03 5,90E-03ND 1,26E-01 5,94E-03 1,08E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00

0,00E+00 0,00E+00 ND ND 5,02E-03 9,87E-03

1,38E-03 3,65E-04 -4,86E-02

ADPE Abiotic Depletion Potential for non-fossil resources

ADPF Abiotic Depletion Potential for fossil resources

GWP Global Warming Potential

ODP Depletion potential of the stratospheric ozone layer

POCP Formation potential of tropospheric ozone photochemical oxidants

AP

kg Sn eq. ND ND

TETP Terrestrial ecotoxicity potential

ECI Environmental Cost Indicator

Acidification Potential of land and water

EP Eutrophication Potential

6,37E-05 -1,40E-01

0,00E+00 0,00E+00 0,00E+00 ND ND 1,74E+01 3,55E+010,00E+00 0,00E+00

ND ND

ND ND 5,94E-04 1,19E-03

9,24E-02

ADPF Abiotic Depletion Potential for fossil resources

4,12E-030,00E+00 0,00E+00 0,00E+00

1,11E+01 1,31E+00 -2,94E+02

ECI euro 1,50E-02 -2,06E+00

TETP kg DCB eq. ND

ND ND ND 4,57E+00 9,74E-02 2,45E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,42E-01 9,68E-02

MAETP

Toxicity indicators and ECI (Dutch market)

1,18E-02 3,19E-04 -3,03E-01FAETP kg DCB eq. ND ND

HTP kg DCB eq. ND ND ND 1,81E+01 3,40E-01 6,24E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 3,59E-01 3,38E-01

ND 8,23E-01 9,93E-03 1,63E-02 0,00E+00 0,00E+00 0,00E+00

1,35E-03

5,23E-01 1,96E-02 -9,71E+00

4,26E-03 2,09E-04 -1,03E-01

EP
kg (PO4) 3- 

eq.
ND ND ND 6,15E-02 6,98E-04 2,61E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,55E-03 6,94E-04 1,14E-03 8,64E-05 -2,72E-02

AP kg SO2 eq. ND ND ND

1,42E-07

3,55E-03 1,09E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 6,61E-03 3,53E-03

3,11E-08 7,87E-09 -1,25E-06

2,49E-01

POCP
kg ethene 

eq.
ND ND ND 1,29E-01 4,87E-04 1,55E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 5,91E-04 4,84E-04

2,68E-01 2,26E-01 -7,72E+00

ADPF MJ ND ND ND 2,56E+02 1,23E+01 2,28E+01 0,00E+00 0,00E+00 0,00E+00

7,08E-05 -4,50E-02

ODP
kg CFC11 

eq.
ND ND ND 2,90E-06 1,43E-07 2,84E-07 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,69E-07

GWP kg CO2 eq. ND ND ND 1,98E+01 8,08E-01 2,26E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,31E+00 8,03E-01

1,22E+01

ENVIRONMENTAL IMPACT per functional unit or declared unit (indicators A1)

Eenheid

ADPE kg Sb eq. ND ND ND 1,79E-04 2,06E-05 3,07E-06 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,51E-06 2,05E-05 2,05E-06 3,40E-07 -7,74E-05

2,67E+00 7,52E-01 -9,76E+010,00E+00 0,00E+00 ND ND 1,36E+01



Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

=

=

=

=

=

=

=

=

=

=

=

=

=

Global Warming Potential total

Global Warming Potential fossil fuels

Global Warming Potential biogenictotal

Global Warming Potential land use and land use change

Depletion potential of the stratospheric ozone layer

Acidification Potential, Accumulated Exceedence

Eutrophication Potential, fraction of nutrients reaching freshwater end compartment

Eutrophication Potential, fraction of nutrients reaching marine end compartment

Eutrophication Potential, Accumulated Exceedence

Formation potential of tropospheric ozone photochemical oxidants

Abiotic Depletion Potential for non-fossil resources [1]

Abiotic Depletion for fossil resources potential [1]

Water (user) deprivation potential, deprivation-weighted water consumption [1]

Disclaimer [1]:

- The results of this environmental impact indicator shall be used with care as the uncertainties on these results are high or as there is limited experience with 

the indicator.

GWP-biogenic

GWP-fossil

GWP-total

ADP-fossil

WDP

ADP-minerals & metals

POCP

EP-terrestrial

EP-marine

EP-freshwater

AP

ODP

GWP-luluc

GWP-

biogenic
kg CO2 eq ND ND ND -7,95E+01 3,76E-04 3,96E-02 0,00E+00

WDP

m3 world 

eq. 

Deprived
ND ND ND 1,28E+01 4,39E-02 3,80E-02 0,00E+00

7,52E-01 -9,76E+01

0,00E+00 0,00E+00

0,00E+00 ND ND 1,81E-02 4,37E-02 6,40E-02 3,22E-02 -4,25E+000,00E+00 0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,36E+01 1,22E+01 2,67E+00ADP-fossil

MJ, net 

calorific 

value
ND ND ND 2,56E+02 1,23E+01 2,28E+01 0,00E+00

ADP-

minerals & 

metals

kg Sb eq. ND ND ND 1,78E-04 2,06E-05 3,06E-06 0,00E+00

3,64E-04 -1,79E-01

0,00E+00 0,00E+00

0,00E+00 0,00E+00 ND ND 1,51E-06 2,05E-05 2,04E-06 3,40E-07 -7,71E-05

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,20E-02 5,21E-03 9,66E-03POCP
kg NMVOC 

eq.
ND ND ND 4,63E-01 5,24E-03 2,08E-02 0,00E+00

EP-

terrestrial
mol N eq. ND ND ND 1,41E+00 1,84E-02 7,54E-02 0,00E+00

1,79E-04 -5,12E-02

0,00E+00 0,00E+00

0,00E+00 0,00E+00 ND ND 4,61E-02 1,82E-02 3,25E-02 1,02E-03 -6,23E-01

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 4,20E-03 1,65E-03 2,93E-03

0,00E+00 0,00E+00 ND ND 3,59E-06 8,17E-06 8,78E-06 6,65E-07 -1,99E-04

EP-marine kg N eq. ND ND ND 1,27E-01 1,66E-03 6,99E-03 0,00E+00

EP-fresh 

water
kg PO4 eq. ND ND ND 2,33E-04 8,22E-06 1,10E-05 0,00E+00

0,00E+00 ND ND 2,13E-07 1,79E-07 3,61E-08 9,84E-09

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 9,32E-03 4,70E-03 6,25E-03

ODP
kg CFC11 

eq
ND ND ND 3,64E-06 1,80E-07 3,58E-07 0,00E+00

3,74E-02

AP mol H+ eq. ND ND ND 2,76E-04

3,75E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 7,69E-05 2,97E-04

0,00E+00 0,00E+00

ENVIRONMENTAL IMPACT per functional unit or declared unit (core indicators A2)

GWP-fossil kg CO2 eq ND ND ND 1,79E+01 8,15E-01 2,20E+00 0,00E+00

1,56E-05 -7,15E-03

7,25E-03

0,00E+00

3,74E-04 7,91E+01 3,02E-01

-6,16E+01 -7,17E+008,15E-01 2,28E+00 0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 ND ND 1,32E+00 8,10E-01 2,38E-01 3,24E-02 -7,17E+00

0,00E+00 0,00E+00

GWP-luluc kg CO2 eq ND ND ND -1,68E-02 2,98E-04

GWP-total kg CO2 eq ND ND ND ND ND 1,32E+00 8,10E-01 7,94E+01 3,34E-010,00E+00

-1,49E-06

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 3,01E-04

3,36E-01 4,72E-03 1,54E-02 0,00E+00 -1,44E-01

0,00E+00



Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

=

=

=

=

=

=

Potential Comparative Toxic Unit for humans, non-cancer [2]

Potential soil quality index [2]

Potential incidence of disease due to PM emissions

Potential Human exposure efficiency relative to U235 [1]

Potential Comparative Toxic Unit for ecosystems [2]

Potential Comparative Toxic Unit for humans [2]

4,87E-08

5,83E-02 5,12E-02

-7,81E-07

ENVIRONMENTAL IMPACT per functional unit or declared unit (additional indicators A2)

0,00E+00

3,71E-06

8,44E-03 2,94E-03 -3,87E-01

PM
Disease 

inci-dence
ND ND 5,22E-098,69E-07 7,32E-08

5,56E-09 2,08E-11 -2,42E-07

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 8,15E+00 1,09E+010,00E+00 7,55E-01

IRP
kBq U235 

eq.
ND ND ND 1,05E+00 5,15E-02

5,39E-08 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 3,20E-08 7,27E-08

9,78E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND

ND

ETP-fw CTUe ND ND ND 4,37E+02 1,10E+01 1,46E+01

ND

1,73E+00 1,06E+01 3,11E+00 1,78E+00-2,45E+03 1,07E+01 5,42E+00 0,00E+00

7,42E-07 3,55E-10 5,15E-10 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 2,86E-10 3,53E-10

5,87E+00

7,63E-09 1,19E-08 2,29E-08

-4,97E+02

HTP-c CTUh ND ND

8,08E-10 -1,28E-06

ND

ND

0,00E+00

Disclaimer [2]:

HTP-nc

- The results of this environmental impact indicator shall be used with care as the uncertainties on these results are high or as there is limited experience with 

the indicator.

Disclaimer [1]:

- This impact category deals mainly with the eventual impact of low dose ionizing radiation on human health of the nuclear fuel cycle. 

It does not consider effects due to possible nuclear accidents, occupational exposure nor due to radioactive waste.

-5,80E+02

0,00E+00 0,00E+00 0,00E+00 0,00E+00

- ND ND ND

PM

SQP

0,00E+00 0,00E+00 0,00E+00SQP

HTP-nc

HTP-c

ETP-fw

IRP

1,20E-08 1,75E-08CTUh ND ND ND ND

ND



Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

=

=

=

=

=

=

=

=

Hazardous Waste Disposed

Non Hazardous Waste Disposed

Radioactive Waste Disposed

Components for reuse

Materials for recycling

Materials for energy recovery

HWD

NHWD

RWD

CRU

MFR

MER

EEE

ETE

Exported Electrical Energy

Exported Thermal Energy

0,00E+00 0,00E+00

ETE kg ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 0,00E+00 0,00E+00 4,71E+01 0,00E+00 0,00E+00

0,00E+00EEE kg

RWD kg

CRU kg

MFR kg

MER kg ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00

ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 0,00E+00 8,12E+01

ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00

ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00

0,00E+00 ND 0,00E+00 0,00E+00 1,87E+01 0,00E+00 0,00E+00

0,00E+00 0,00E+00 ND ND 0,00E+00 0,00E+00 1,60E-01 0,00E+00 0,00E+00

0,00E+000,00E+00 0,00E+00 ND ND 9,60E+01

0,00E+00 ND

0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 ND ND 3,70E-05 3,09E-05 1,04E-05 1,16E-06 -2,36E-04

1,28E-01 3,01E+00

ND 9,43E-050,00E+00 0,00E+00 ND

0,00E+00 0,00E+00 0,00E+00 ND

8,02E-05

0,00E+00ND ND 5,01E-04 3,11E-05 6,39E-05 0,00E+00

1,17E-05 4,47E-06 -6,08E-04ND ND ND

OUTPUT FLOWS AND WASTE CATEGORIES per functional unit or declared unit (A1 en A2)

-3,80E+00ND ND 9,87E+00 7,79E-01 6,33E-01 0,00E+00 0,00E+00 ND 1,61E-02 7,75E-01NHWD kg

1,64E-03 8,07E-05 1,58E-04 0,00E+00 0,00E+00 0,00E+00

0,00E+00

NDHWD kg

ND



Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

=

=

=

=

=

=

=

=

=

=

Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D

=

=

BBCpr kg C ND

SM

RSF

NSRF

BCCpr

BCCpa

ND ND 2,77E-01 1,50E-03 1,37E-03 0,00E+00 ND ND0,00E+00 0,00E+00 -9,29E-02

0,00E+00

ND 0,00E+00 0,00E+000,00E+00

SM

0,00E+00 0,00E+00

0,00E+00 0,00E+00

7,86E-04

0,00E+00 0,00E+00 0,00E+00 ND 1,09E+00

Use of net fresh water

0,00E+00

7,38E-05 0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND

kg C ND

Biogenic carbon content in product

Biogenic carbon content in packaging

PERE Use of renewable energy excluding renewable primary energy resources

7,02E-04 1,49E-03 9,19E-03FW m3 ND

0,00E+00 ND NDBCCpa

PERM

PERT

PENRE

PENRM

PENRT

0,00E+000,00E+00

FW

Use of renewable energy resources used as raw materials

Total use of renewable primary energy resources

0,00E+00 0,00E+00 0,00E+00

Use of renewable secondary fuels

Use of non-renewable secondary fuels

0,00E+00 0,00E+000,00E+00 0,00E+00ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00

ND

0,00E+00

Use of non-renewable primary energy resources excluding non-renewable energy resources used as raw materials

Use of non-renewable primary energy resources used as raw materials

Total use of non-renewable primary energy resources

Use of secondary materials

ND 2,17E+01 0,00E+00 -1,30E-01 0,00E+00 ND 0,00E+00 0,00E+00 2,06E+01

kg ND ND ND 0,00E+00 0,00E+00

MJ ND ND 2,71E+02 1,30E+01 2,42E+01 0,00E+00

-1,04E+02

1,85E-04

RSF MJ ND ND 0,00E+00 0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 0,00E+00 0,00E+00NSRF MJ ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 0,00E+00 0,00E+00

ND 1,44E+01 1,30E+01

8,00E-01ND ND ND 2,71E+02 1,30E+01 2,42E+01 0,00E+00

2,87E+00

ND ND 0,00E+00 0,00E+00 1,01E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00

ND

0,00E+00 0,00E+00

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 1,44E+01 1,30E+01 2,87E+00

8,00E-01 -1,04E+02

PENRM MJ ND ND ND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 0,00E+00 0,00E+00

PENRT

PENRE MJ

0,00E+00ND ND ND 6,00E+02 0,00E+00 0,00E+00 0,00E+00 0,00E+00

PERT MJ ND ND ND -8,26E+02 1,54E-01 5,18E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 7,46E-02 1,53E-01 4,78E-01 1,32E-02 -2,21E+01

0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 0,00E+00 0,00E+00 0,00E+00PERM MJ

PERE MJ ND ND ND -1,43E+03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 ND ND 0,00E+00 0,00E+00 4,57E-03 0,00E+00 0,00E+00

RESOURCE USE per functional unit or declared unit (A1 and A2)

BIOGENIC CARBON CONTENT per functional unit or declared unit (A1 and A2)



End-of-life scenario

Landfill

Incineration

Recycling

40Reuse

Within module A1-A3 the complete production of the sheetpile is considered. Module A4 considers the transport to the port and to the Netherlands. In module 

A5 installation at the building site is considered with a crane. there is no maintenance, so module B is empty. In module C1 the removal by a crane is 

considered. the removed sheetpile is in module C2 transported to a timeryard. In module C3 the sheet pile is further processed, either sawn to new products, 

prepared for reuse, the unuseable parts are in an AVI burned for energy recovery. in C4 the impacts due to landfill, as usually part of the sheet pile remains in 

the soil, are considered. The loads and benefits beyond the system boundary are considered in module D. There are no harmfull substances present in 

amounts exceeding 0,1%. 

DECLARATION OF SVHC

the product does not contain SVHC in amounts exceeding 0,1%

REFERENCES

FAO, ITTO and United Nations. 2020. Forest product conversion factors. Rome. https://doi.org/10.4060/ca7952en. 

CBS import statistics 2021.

NEN-EN 15804+A2. Duurzaamheid van bouwwerken – Milieuverklaringen van producten – Basisregels voor de productgroep bouwproducten.

NEN-EN 16449. Hout en op hout gebaseerde producten – Berekening van de opname en vastlegging van kooldioxide uit de atmosfeer.

NEN-EN-ISO 14025. Milieu-etiketteringen en -verklaringen – Type III milieuverklaringen – Principes en procedures.

NEN-EN-ISO 14040. Environmental management — Life cycle assessment — Principles and framework.

NEN-EN-ISO 14044. Environmental management — Life cycle assessment — Requirements and guidelines.

NEN 5493. Quality requirements for hardwoods in civil engineering works and other structural applications.

Westenberg, 2019. Duurzaamheidsonderzoek houten damwanden en beschoeiingen. Internal report: Ame.159-004.

EY, (Van Flier, A. et al.) 2016, LCA report for selected Tropical Timber species for Pile Planking.

Munck de E., 2023 Voorstel Verwerkingsscenario’s Damwanden tropisch hardhout - waarden voor gebruik bij het opstellen van EPD Damwanden Tropisch 

Loofhout -. Notitie Centrum Hout,: 30 maart 2023.

Peverelli, T. Hélias, C. 2022, Rapport du projet, ATIBT- EICV des produits bois de 1ere et 2ere transformation en bois tropicaux du bassin du Congo.

Petterson, E. et. All. Stove performance and emission characteristics in residential wood log and pellet combustion Part 2: Wood stove, Energy & Fuels 2011 

25 (1), 315-323.

Roser, M., Ourworldindata.org/energy/country share of electricity production by source, retrieved 2022-07-08.  

Data is from 2018-2020, and still representative in 2024, the production process is not changed. Economic allocation is applied if allocation could not be 

avoided. All material and energy flows are considered. The profile is scalable where a linear scaling can be applied for the thickness. 

SCENARIOS AND ADDITIONAL TECHNICAL INFORMATION (PART 1)

CALCULATION RULES (PART 1)

percentage %

5

31

24



REMARKS

Life timber in housing (LIFE20GIE/NL/001073)

Views and opinions expressed are however those of the author(s) only and do not necessarily reflect those of the European Union or CINEA. Neither the

European Union nor the granting authority can be held responsible for them




